Name Date
Ms. Schmidt Intermediate Algebra

- Final Review #7 — Mixed Review
. 1) Simplity
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2) If h(x) = x* + 2x and g(x) = 2x — 6 find, g(h(=4)). |
N (- 4)> +3-4) 9(&»:9c8)%0
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3) What is the domain of the function: f(x) = {(8, 2),(19,1),(22,-3),(34,8),(35,2)}

b.i %8, }C\,BQfQJq/Z’S—E
4) What is the inverse of f(x) = 3x — 19 and solve for f~1(x) in terms of x.
x=3y-1

z%ﬂ:f"u)

5) Given f(x) = x? and h(x) = 4x — 1, find f(g(x)).
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6) Simplify each radical

a) V8 b) V500 C)m
VA Py /N
V4 2 Vios V& Ja Ja

N a JOTS

7) Given h(x) = 4x* —x — 5 and g(x) = —2x% — 7. Subtract g(x) from h(x).

Txxs - (car )
L X?-x-5 +AX* )
bx* ~x +2

8) Find the product of 10a~! and 3a¢~8.

2o’ - 3

as

9) Factor completely each of the following expressions.
a) 15x% —5x b) 4x* — 20x? — 56x ¢) 10x? — 2x

B X6x% ) Hx(x*5x-14)  Ax(5x-1)

Hx (x-7)xra)

10) Simplify: 7v/3 — 427 + V12
A\ AN
[\17-\ V3 43
=43V3 93
I3 =1 +40%
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11) Solve for y by factoring,
9 X~ 21x420 =

(X-86)(x1) =0
=8¢ W=

P

12) Rationalize each of the following:

byx? —x—20=0
(X-5) (x1H)=O
X=5 X=-4f

: 0 V3 2 13
5Va Wz 93
— - = V3 ,
N 3 0
. 13) Determine if the following lines are parallel, perpendicular or neither.
. 2y=x-10 i b.y—-5x=7 N ;
" yy:_x2x+8 )/':Z;'}k-s’ 2y =10x + 4 y 5)\ 1’7

Pinpmdicutar

| 14) Solve for x:
| a) |2x+ 2| =10
‘ AxXtd=10 *(9)('}’9)'7/0
627(4 g ~AX-2=/0
' . X: L’ X - I‘Q
=4

8:5x%Q-
Yorald

b) |6x — 12| = 18
bx-12=18
x= 50

X=S

-(ox12) 18
~oxHAZ I8
Tlox={,

=
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15) Find the roots of the equation by using the quadratic formula: 2x? —=7x =3 =10

-b+ \/b‘ 4ac d

"‘“*\579325(3)
d (4)
IEREN

—

16) Use the triangle to the right.
a. Find the value of x.

07 sh*=c*
=59 1922 2
)(é)qiia 5 .
x: '5 (

12

b. Find the value of angle 0. Round your answer to the
nearest degree.

tan (54
Q& =33°

17) Solve each of the following for x:

a) 6¥X*1 = g3x-2 b) 32(x+1) = 33(x-1) ¢) 92(2x+1) — g5x-1
Axrl=Dx-A  ACKA1) =B A(9x+1) = B~
[ =%x -2 Ax+a =33 Hx rélvs)(-/.
3:@)§ od = X-3 Jd = X-]
SR =X
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